

### Research Article

## Starlikeness of Normalized Bessel Functions with Symmetric Points

# Maryam Nazir (), Syed Zakar Hussain Bukhari (), Imtiaz Ahmad (), Muhammad Ashfaq (), and Malik Ali Raza ()

Department of Mathematics, Mirpur University of Science and Technology, Mirpur 10250 AJK, Pakistan

Correspondence should be addressed to Syed Zakar Hussain Bukhari; fatmi@must.edu.pk

Received 20 September 2021; Accepted 18 October 2021; Published 20 November 2021

Academic Editor: Sibel Yalçın

Copyright © 2021 Maryam Nazir et al. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Bessel functions are related with the known Bessel differential equation. In this paper, we determine the radius of starlikeness for starlike functions with symmetric points involving Bessel functions of the first kind for some kinds of normalized conditions. Our prime tool in these investigations is the Mittag-Leffler representation of Bessel functions of the first kind.

#### 1. Introduction and Definitions

Let  $\mathbb{E}(z_0, r) = \{z \in \mathbb{C} : |z - z_0| < r\}$  and  $\mathbb{E}(0, 1) \subset \mathbb{E}(z_0, r)$ denote the interior of the unit circle with center at origin. Suppose that  $\mathscr{A}$  represent functions f in  $\mathbb{E}(0, 1)$ :

$$f(z) = z + a_2 z^2 + \cdots. \tag{1}$$

Obviously, f(0) = 0 along with f'(0) = 1. The subclass  $\mathcal{S} \subset A$  only contains univalent (one-to-one) functions and  $\mathcal{S}^* \subset \mathcal{S}$  represent the set of starlike functions. A function f for which  $f(\mathbb{E}(0, 1))$  is star-shaped is starlike if Re  $\{zf'(z)/f(z)\} > 0$ . Also,  $f \in \mathcal{S}_s$  if

$$\operatorname{Re}\left\{\frac{2zf'(z)}{f(z)-f(-z)}\right\} > 0, \quad z \in \mathbb{E}(0,1),$$
(2)

and  $f \in \mathcal{S}_s(\eta)$  if

$$\operatorname{Re}\left\{\frac{2zf'(z)}{f(z)-f(-z)}\right\} > \eta, \quad 0 \le \eta < 1, z \in \mathbb{E}(0,1).$$
(3)

Let

$$\begin{aligned} r^{*}(f) &= \sup \left\{ r > 0 : \operatorname{Re} \left\{ \frac{2zf'(z)}{f(z) - f(-z)} \right\} > 0, z \in \mathbb{E}(0, r) \right\}, \\ r^{*}_{\eta}(f) &= \sup \left\{ r > 0 : \operatorname{Re} \left\{ \frac{2zf'(z)}{f(z) - f(-z)} \right\} > \eta, z \in \mathbb{E}(0, r) \right\} \end{aligned}$$

$$(4)$$

be the radii of the classes defined above. We note that  $r^*$  is the maximum value of the radius such that  $f(\mathbb{E}(0, r^*(f))) \in S^*$  and  $r_{\eta}^*$  is the maximum value of the radius such that  $f(\mathbb{E}(0, r_{\eta}^*(f))) \in S^*$  with symmetric points. Consider the following representation of the function  $b_{\mu}$  as in [1], which satisfies the well-known Bessel differential equation:

$$b_{\mu}(z) = \sum_{j \ge 0} \frac{(-1)^{j}}{j! \Gamma(j+\mu+1)} \left(\frac{z}{2}\right)^{2j+\mu} = \sum_{j \ge 0j!} \frac{(-1)^{j}}{(j+\mu)!} \left(\frac{z}{2}\right)^{2j+\mu}, \quad (5)$$

where  $z, \mu \in \mathbb{C}$  such that  $\mu \neq -1, -2, -3, \cdots$ . Observe that  $b_{\mu}(z) \notin A$ . Thus, we consider the following normalizations:

$$f_{\mu}(z) = \left[2^{\mu} \Gamma(\mu+1) b_{\mu}(z)\right]^{1/\mu}, \quad \mu \neq 0,$$
 (6)

$$k_{\mu}(z) = 2^{\mu} \Gamma(\mu + 1) z^{1-\mu} b_{\mu}(z), \qquad (7)$$

$$\ell_{\mu}(z) = 2^{\mu} \Gamma(\mu + 1) z^{1 - (\mu/2)} b_{\mu}(\sqrt{z}).$$
(8)

Clearly, the function  $f_{\mu}, k_{\mu}, \ell_{\mu} \in \mathscr{A}$ . We see that

$$f_{\mu}(z) = \exp\left[\frac{1}{\mu}\log\left(2^{\mu}\Gamma(\mu+1)b_{\mu}(z)\right)\right]. \tag{9}$$

The geometric behavior and properties of the functions  $f_{\mu}$ ,  $k_{\mu}$ , and  $\ell_{\mu}$  were studied by Brown, Kreyszig, Robertson, and many others (for detail, see [2–4] and also the references therein). The related problems were also studied in [3, 5–8] with references therein. We study the radius problems for the functions  $f_{\mu}$ ,  $k_{\mu}$ , and  $\ell_{\mu}$  starlike with symmetric points. Mittag-Leffler expansion for Bessel functions is used as a prime tool along with the conclusion that the specific positive roots of the Dini functions are always smaller than the related zeros  $b_{\mu}(z)$ , for reference, see [9].

#### 2. Preliminaries

**Lemma 1.** Let  $f : \mathbb{E}(0, 1) \longrightarrow \mathbb{C}$  be a transcendental function having the following expansion:

$$f(z) = z \prod_{j \ge I} \left( 1 - \frac{z}{z_j} \right), \tag{10}$$

where  $z_j : |z_j| > 1$  have the same argument. For a univalent function f in  $\mathbb{E}(0, 1)$ , we have

$$\sum_{j\ge l} \frac{1}{|z_j| - 1} \le l.$$
(11)

This result holds if and only if  $f \in S^*$ , and each of its derivatives is close to convex in the open unit disk  $\mathbb{E}(0, 1)$ . Furthermore, for  $z'_{j'}$  the zeroes of the derivative of f, f, and f' are univalent in  $\mathbb{E}(0, 1)$  and for  $\mathbb{E}(0, 1), f(\mathbb{E}(0, 1))$  is a convex-shaped if and only if

$$\sum_{j\geq 1} \frac{1}{|z'_j| - 1} \le 1.$$
 (12)

Lemma 2. The function

$$\ell_{\mu}(z) = 2^{\mu} \Gamma(\mu + 1) z^{1-\mu/2} b_{\mu}(\sqrt{z}) \in \mathcal{S}^*(\eta)$$
(13)

and each of its derivative is close to convex in  $\mathbb{E}(0, 1)$  if and only if  $\mu > \mu_0(\eta)$ , where  $\mu_0(\eta) \approx 0.5623 \cdots$  is a unique zero of  $\ell_u(1) = 0$  on  $(-1, \infty)$ .

The proof of Lemma 1 and Lemma 2 is found in [10].

Lemma 3. The function

$$f_{\mu}(z) = \left(2^{\mu}\Gamma(\mu+1)b_{\mu}(z)\right)^{1/\mu} \in \mathcal{S}^{*}(\eta)$$
(14)

in  $\mathbb{E}(0, 1)$  if and only if  $\mu > \mu_1(\eta)$ , where  $0 < \mu_1(\eta) < \infty$  is the unique solution of

$$(1 - \eta)\mu b_{\mu}(1) = b_{\mu+1}(1).$$
(15)

In particular,  $f_{\mu} \in S^*$  in  $\mathbb{E}(0, 1)$  if and only if  $\mu > \mu_1(0)$ , where  $\mu_1(0) \simeq 0.3908 \cdots$  is a unique zero of

$$\mu b_{\mu}(1) = b_{\mu+1}(1). \tag{16}$$

Lemma 4. The function

$$k_{\mu}(z) = 2^{\mu} \Gamma(\mu + 1) b_{\mu}(z) z^{1-\mu} \in \mathcal{S}^{*}(\eta), \quad 0 \le \eta < 1, \quad (17)$$

in  $\mathbb{E}(0, 1)$  if and only if  $\mu > \mu_2(\eta)$ , where  $\mu_2(\eta)$  is the unique zero of

$$(1 - \eta)b_{\mu}(1) = b_{\mu+1}(1), \tag{18}$$

lies in  $(\tilde{\mu}, \infty)$ , where  $\tilde{\mu} \approx -0.7745 \cdots$  is the unique root of  $b_{\mu,1} = 1$  and  $b_{\mu,1}$  is the first positive zero of  $b_{\mu}$ . In particular,  $k_{\mu} \in S^*$  in  $\mathbb{E}(0, 1)$  if and only if  $\mu > \mu_2(0)$ , where  $\mu_2(0) \approx -0.3397 \cdots$  is a unique zero of

$$b_{\mu}(1) = b_{\mu+1}(1). \tag{19}$$

The proof of Lemma 3 and Lemma 4 can be seen in [11].

**Lemma 5.** *If*  $z \in \mathbb{C}$  *and*  $\eta \in \mathbb{R} : \eta > |z|$ *, then* 

$$\frac{|z|}{\eta - |z|} \ge \operatorname{Re}\left(\frac{z}{\eta - z}\right). \tag{20}$$

For the detail of the above Lemma 5, we refer to [3].

#### 3. Main Results

**Theorem 6.** Let  $1 > \eta \ge 0$ , and  $\mu \in (-1, 0)$ . Then,  $r_{\eta}^*(I_{\mu})$ , is a unique positive zero of

$$zI'_{\mu}(z) - \eta \mu I_{\mu}(z) = 0, \qquad (21)$$

where  $I_{\mu}(z) = i^{-\mu}b_{\mu}(iz)$ . Moreover, if  $\mu > 0$ , then  $r_{\eta}^{*}(b_{\mu})$  is the least positive zero of

$$zb'_{\mu}(z) - \eta\mu b_{\mu}(z) = 0.$$
 (22)

*Proof.* Using Lemma 3, we see that the function  $f_{\mu}(z) = (2^{\mu}\Gamma(\mu+1)b_{\mu}(z))^{1/\mu} \in \mathcal{S}^{*}(\eta)$  in  $\mathbb{E}(0,1)$  with respect to z iff  $\mu > \mu_{1}(\eta)$ , where  $\mu_{1}(\eta)$  is a unique zero of

Journal of Function Spaces

$$(1 - \eta)\mu b_{\mu}(1) = b_{\mu+1}(1), \qquad (23)$$

lies in  $(0, \infty)$ . Suppose  $b_{\mu,j}$  is the *j*th positive root of  $b_{\mu}(z)$ . By using infinite product representation,

$$b_{\mu}(z) = \frac{1}{\Gamma(1+\mu)} \left(\frac{z}{2}\right)^{\mu} \prod_{j \ge 1} \left(1 - \frac{z^2}{b_{\mu,j}^2}\right).$$
(24)

Also, as given in [12], we see that  $f_{\mu}$  has the following form:

$$\begin{split} f_{\mu}(z) &= z \prod_{j \ge 1} \left( 1 - \frac{z}{b_{\mu,j}^2} \right) \\ &= \left[ \sum_{j \ge 0} \frac{(-1)^j \Gamma(1+\mu)}{j! \Gamma(\mu+j+1)} z^{\mu+2j} \right]^{1/\mu} \\ &= z - \frac{1}{4\mu(\mu+1)} z^3 + \cdots, \quad \mu \ne 0. \end{split}$$
 (25)

From Lemma 3, we see that for  $\mu > \mu^* \simeq -0.7745 \cdots$  the unique value of the root of  $f_{\mu}(1) = 0$  or  $b_{\mu,1} = 1$ , we have  $b_{\mu,1} > 1$ , and  $b_{\mu,j} > 1, j = 1, 2, \cdots$ . The above result is immediate, if  $b_{\mu,1}$  is increasing on  $(-1, \infty)$ . Using (24) and (25), we can write

$$-b_{\mu}(z) = b_{\mu}(-z),$$
  
$$-b'_{\mu}(z) = b'_{\mu}(-z).$$
 (26)

Also, from (6), we have

$$-f_{\mu}(z) = f_{\mu}(-z),$$
  

$$f'_{\mu}(-z) = (-1)f'_{\mu}(z),$$
(27)

which in the context of  $zb'_{\mu}(z) - \mu b_{\mu}(z) = -zb_{\mu+1}(z)$  is equivalent to the Mittag-Leffler representation:

$$\frac{1}{b_{\mu}(z)}b_{\mu+1}(z) = \sum_{j\geq 1}\frac{2z}{b_{\mu,j}^2 - z^2}.$$
 (28)

Consequently,

$$\frac{b_{\mu+1}(-z)}{b_{\mu}(-z)} = -\frac{b_{\mu+1}(z)}{b_{\mu}(z)}.$$
(29)

In view of (6), (25), and (27), we can write

$$\frac{zf'_{\mu}(-z)}{f_{\mu}(-z)} = -1 + \frac{1}{\mu} \sum_{j \ge 1} \frac{2z^2}{b_{\mu,j}^2 - z^2} = - = -\frac{1}{\mu} \frac{zb'_{\mu}(z)}{b_{\mu}(z)}.$$
 (30)

Using Lemma 1, we find that for  $j \in \mathbb{N}$ ,  $\mu = -1$ , and  $z \in \mathbb{E}(0, b_{\mu,1})$ , the following inequality

$$\frac{|z|^2}{b_{\mu,j}^2 - |z|^2} \ge \operatorname{Re}\left(\frac{z^2}{b_{\mu,j}^2 - z^2}\right)$$
(31)

implies that

$$\operatorname{Re} \frac{zf_{\mu}'(-z)}{f_{\mu}(-z)} \le -1 + \frac{1}{\mu} \sum_{j \ge 1} \frac{2|z|^2}{b_{\mu,j}^2 - |z|^2} = -\frac{|z|f_{\mu}'(|z|)}{f_{\mu}(|z|)}.$$
 (32)

When  $|z| < b_{\mu,1}$ , we observe that

$$\operatorname{Re}\left\{\frac{zf_{\mu}'(-z)}{f_{\mu}(-z)}\right\} \leq -1 + \frac{1}{\mu} \sum_{j\geq 1} \frac{2r^{2}}{b_{\mu,j}^{2} - r^{2}}$$
$$\leq -1 + \frac{1}{\mu} \sum_{j\geq 1} \frac{2}{b_{\mu,j}^{2} - 1}$$
$$= -\frac{f_{\mu}'(1)}{f_{\mu}(1)}.$$
(33)

As in [12], we see that  $b'_{\mu,j} > 0$  on  $(0, \infty)$  for a fixed  $j \in \mathbb{N}$ . Thus,  $f'_{\mu}(1)/f_{\mu}(1)$  is increasing on  $(0, \infty)$ , and  $-(f'_{\mu}(1)/f_{\mu}(1))$  is decreasing on  $(0, \infty)$ . Also,

$$-\frac{f'_{\mu}(1)}{f_{\mu}(1)} < -\eta \Leftrightarrow \mu < \mu_{1}(\eta), \tag{34}$$

where  $\mu_1(\eta)$  is the unique zero of

$$f'_{\mu}(1) = \eta f_{\mu}(1) \text{ or } \eta \mu b_{\mu}(1) = b'_{\mu}(1) \text{ or } (1 - \eta)\mu b_{\mu}(1) = b_{\mu+1}(1).$$
(35)

We also note that

$$\frac{zf'_{\mu}(-z)}{f_{\mu}(-z)} = 1 - \frac{b_{\mu+1}(z)}{\mu b_{\mu}(z)},$$
(36)

when  $\mu \in (-1, 0)$ . For  $-1 < \mu < -\infty$ , the Dini function  $zb'_{\mu}(z) + \eta b_{\mu}(z)$  has real roots except a pair of complex conjugate roots (for detail, see [1]). Thus,

$$f_{\mu}(-z) \in \mathcal{S}^{*}(\eta), \quad \eta \in (-1,0),$$
(37)

in  $\mathbb{E}(0,1)$  if and only if  $\mu < \mu_1(\eta)$ . Considering (5), (30), (33), and (36), we have

$$\frac{2zf'_{\mu}(z)}{f_{\mu}(z) - f_{\mu}(-z)} = \frac{2zf_{\mu}(z)b'_{\mu}(z)}{\mu(f_{\mu}(z) + f_{\mu}(z))b_{\mu}(z)} = \frac{1}{\mu}\frac{zb'_{\mu}(z)}{b_{\mu}(z)} = 1 - \frac{1}{\mu}\sum_{j\geq 1}\frac{2z^{2}}{b^{2}_{\mu,j} - z^{2}}.$$
(38)

Also, from (38), it is obvious that

$$\operatorname{Re} \frac{2zf'_{\mu}(z)}{f_{\mu}(z) - f_{\mu}(-z)} \ge 1 - \frac{1}{\mu} \sum_{j \ge 1} \frac{2|z|^{2}}{b_{\mu,j}^{2} - |z|^{2}}$$
$$= \frac{|z|f'_{\mu}(|z|)}{f_{\mu}(|z|)}$$
$$= \operatorname{Re} \frac{zf'_{\mu}(z)}{f_{\mu}(z)}.$$
(39)

As in [1], for  $1 > \eta \ge 0$  and  $\mu \in (-1, 0)$ ,  $r_{\eta}^{*}(I_{\mu})$  is the unique value of positive zero of  $zI'_{\mu}(z) - \eta\mu I_{\mu}(z) = 0$ . Moreover, if  $\mu > 0$ , then we have  $r_{\eta}^{*}(b_{\mu})$  which is the least positive zero of  $zb'_{\mu}(z) - \eta\mu b_{\mu}(z) = 0$ .

**Theorem 7.** If  $\mu > -1$ , then  $r_n^*(k_\mu) > 0$  is the smallest zero of

$$zb'_{\mu}(z) + (1 - \eta - \mu)b_{\mu}(z) = 0, \qquad (40)$$

where  $k_{\mu}(z) = 2^{\mu} \Gamma(\mu + 1) b_{\mu}(z)(z)^{1-\mu}$ .

Proof. By Lemma 4, the function

$$k_{\mu}(z) = 2^{\mu} \Gamma(\mu + 1) \left[ b_{\mu}(z) \right]^{1-\mu} \in \mathcal{S}^{*}(\eta), \tag{41}$$

for  $\eta \in (-1, 0)$  in the open unit disk  $\mathbb{E}(0, 1)$  if and only if  $\mu < \mu_2(\eta)$ , where  $\mu_2(\eta)$  is the unique value of the zero of the following equation:

$$(1 - \eta)b_{\mu}(1) = b_{\mu+1}(1).$$
(42)

Suppose that  $b_{\mu,j}$  is the *j*th positive zero of  $b_{\mu}(z)$  given by (24) and (25). Consider the normalization (7) such that

$$k_{\mu}(-z) = (-1)k_{\mu}(z). \tag{43}$$

We write

$$\frac{zk'_{\mu}(-z)}{k_{\mu}(-z)} = -\frac{zk'_{\mu}(z)}{k_{\mu}(z)} = -1 + \mu - \partial(b_{\mu})(z) = -1 + \frac{zb_{\mu+1}(z)}{b_{\mu}(z)}.$$
(44)

For  $\mu > -1$  and  $r = |z| < b_{\mu,1}$ , we see that

$$\operatorname{Re} \frac{zk_{\mu}'(-z)}{k_{\mu}(-z)} \le -\frac{zk_{\mu}'(\mathbf{r})}{k_{\mu}(r)} = -1 + \sum_{j\ge 1} \frac{2|z|^2}{b_{\mu,j}^2 - |z|^2} = -\frac{k_{\mu}'(1)}{k_{\mu}(1)}.$$
(45)

For detail, we refer to [12]. Since the function  $b'_{\mu,j} > 0$ on  $(-1, \infty)$  for fixed  $j \in \mathbb{N}$ , thus  $k'_{\mu}(1)/k_{\mu}(1)$  is increasing on  $(\tilde{\mu}, \infty)$ , and  $-(k'_{\mu}(1)/k_{\mu}(1))$  is decreasing on  $(\tilde{\mu}, \infty)$  and  $-(k'_{\mu}(1)/k_{\mu}(1)) < -\eta$  if and only if  $\mu < \mu_2(\eta)$ , where  $\mu_2(\eta)$  is the unique value of the root of

$$k'_{\mu}(1) = \eta k_{\mu}(1) \operatorname{or}(1 - \mu - \eta) b_{\mu}(1) + b'_{\mu}(1)$$
  
= 0 or(1 - \eta) b\_{\mu}(1) (46)  
= b\_{\mu+1}(1).

Thus,

$$\begin{aligned} \frac{zb'_{\mu}(-z)}{b_{\mu}(-z)} &= -1 + \operatorname{Re} \sum_{j \ge 1} \frac{2z^2}{b^2_{\mu,j} - z^2} \\ &\leq -1 + \sum_{j \ge 1} \frac{2|z|^2}{b^2_{\mu,j} - |z|^2} \\ &= -\frac{|z|k'_{\mu}(|z|)}{k_{\mu}(|z|)} \\ &= -\operatorname{Re} \frac{zk'_{\mu}(z)}{k_{\mu}(z)}, \end{aligned}$$
(47)

and equality holds for |z| = r. The above inequality implies that the function  $k_{\mu}(-z) \in \mathcal{S}^*(\eta), \eta \in (-1, 0)$ , in  $\mathbb{E}(0, 1)$  if and only if  $\mu < \mu_2(\eta)$ . Considering normalization in (7), we can write

$$\begin{aligned} k_{\mu}(-z) &= (-1)k_{\mu}(z)\frac{2zk'_{\mu}(z)}{k_{\mu}(z) - k_{\mu}(-z)} \\ &= \frac{zb'_{\mu}(z)}{b_{\mu}(z)} + (1-\mu) \\ &= 1 - \sum_{j \ge 1} \frac{2z^2}{b^2_{\mu,j} - z^2}. \end{aligned}$$
(48)

From (48), it is known that

$$\operatorname{Re}\left\{\frac{2zk'_{\mu}(z)}{k_{\mu}(z)-k_{\mu}(-z)}\right\} = 1 - \operatorname{Re}\sum_{j\geq 1} \frac{2z^{2}}{b^{2}_{\mu,j}-z^{2}}$$

$$\geq 1 - \sum_{j\geq 1} \frac{2|z|^{2}}{b^{2}_{\mu,j}-|z|^{2}}$$

$$= \frac{|z|k'_{\mu}(|z|)}{k_{\mu}(|z|)}$$

$$= \operatorname{Re}\frac{zk'_{\mu}(z)}{k_{\mu}(z)}.$$
(49)

For  $1 > \eta \ge 0$  and  $\mu > -1$ , we see that  $r_{\eta}^*(k_{\mu})$  is the least positive zero of the following equation:

$$zb'_{\mu}(z) + (1 - \eta - \mu)b_{\mu}(z) = 0, \qquad (50)$$

where 
$$k_{\mu}(z) = 2^{\mu} \Gamma(\mu + 1) b_{\mu}(z)(z)^{1-\mu}$$
.

**Theorem 8.** If  $\mu > -1$  and  $1 > \eta \ge 0$ , then  $r_{\eta}^{*}(\ell_{\mu})$  is the least positive zero of the differential equation  $zb'_{\mu}(z) + (2 - 2\eta - \mu)$  $b_{\mu}(z) = 0$ , where  $\ell_{\mu}(z) = 2^{\mu}\Gamma(\mu + 1)b_{\mu}(\sqrt{z})(z)^{1-\mu/2}$ .

*Proof.* Assume that  $b_{\mu,j}$  is the *j*th positive zero of  $b_{\mu}(z)$  given by (24) and (25). Considering the normalization given in (7), we write

$$\ell_{\mu}(-z) = 2^{\mu} \Gamma(\mu+1) b_{\mu} (\sqrt{-z}) (-z)^{1-(\mu/2)}.$$
 (51)

Since

$$\begin{split} \ell_{\mu}(z) &= 2^{\mu} \Gamma(\mu+1) b_{\mu} \left(\sqrt{z}\right) (z)^{1-(\mu/2)} \\ &= \sum_{j \geq 0} \frac{(-1)^{j} \Gamma(1+\mu)}{4^{j} j! \Gamma(\mu+j+1)} z^{1+j} \\ &= z \prod_{j \geq 1} \left(1 - \frac{z}{b_{\mu,j}^{2}}\right), \end{split}$$
(52)

so we can write

$$\operatorname{Re} \frac{z\ell'_{\mu}(z)}{\ell_{\mu}(z)} = 1 - \frac{\mu}{2} + \operatorname{Re} \frac{1}{2\sqrt{z}} \frac{zb'_{\mu}(\sqrt{z})}{b_{\mu}(\sqrt{z})} = 1 - \operatorname{Re} \sum_{j \ge 1} \frac{z}{b^{2}_{\mu,j} - z}.$$
(53)

This result shows that

$$\operatorname{Re} \frac{z\ell_{\mu}'(-z)}{\ell_{\mu}(-z)} = -1 + \frac{\mu}{2} - \frac{1}{2\sqrt{-z}} \frac{-zb_{\mu}'(\sqrt{-z})}{b_{\mu}(\sqrt{-z})} = -1 + \sum_{j\geq 1} \frac{-z}{b_{\mu,j}^2 + z},$$
(54)

or

$$\operatorname{Re} \frac{z\ell'_{\mu}(-z)}{\ell_{\mu}(-z)} = -1 - \operatorname{Re} \sum_{j \ge 1} \frac{z}{b_{\mu,j}^{2} + z}$$

$$\leq -1 + \sum_{j \ge 1} \frac{|z|}{b_{\mu,j}^{2} - |z|}$$

$$= -\frac{|z|\ell'_{\mu}(|z|)}{\ell_{\mu}(|z|)}$$

$$= -\operatorname{Re} \frac{z\ell'_{\mu}(z)}{\ell_{\mu}(z)}.$$
(55)

The equality holds for r = |z| = z. The principle of minimum value for harmonic functions along with (7) shows that

$$\operatorname{Re} \frac{z\ell'_{\mu}(z)}{\ell_{\mu}(z)} \ge 1 - \sum_{j\ge 1} \frac{|z|}{b^{2}_{\mu,j} - |z|}$$
(56)

is valid if and only if  $|z| < b_{\mu,1}$ , and  $b_{\mu,1}$  is the minimum positive root of the equation

$$rb'_{\mu}(r) + (2-\mu)b_{\mu}(r) = 0.$$
(57)

Thus, we have

$$\frac{\ell'_{\mu}(-1)}{\ell_{\mu}(-1)} = -1 + \sum_{j \ge 1} \frac{1}{1 - \left((-1)/b_{\mu,j}^2\right)} \frac{1}{b_{\mu,j}^2}$$

$$= -1 - \sum_{j \ge 1} \frac{1}{b_{\mu,j}^2 + 1} \le 0,$$
(58)

$$\frac{\ell_{\mu}'(-z)}{\ell_{\mu}(-z)} = -\frac{1}{z} - \sum_{j\geq 1} \frac{1}{b_{\mu,j}^2 + z} \text{ or } \frac{\partial}{\partial \mu} \left( \frac{\ell_{\mu}'(-z)}{\ell_{\mu}(-z)} \right)$$

$$= -\sum_{j\geq 1} \frac{2b_{\mu,j} (\partial/\partial \mu) b_{\mu,j}}{\left(z + b_{\mu,j}^2\right)^2},$$
(59)

or

$$\frac{\partial}{\partial \mu} \left( \frac{\ell_{\mu}'(-1)}{\ell_{\mu}(-1)} \right) = -\sum_{j \ge 1} \frac{2b_{\mu,j}(\partial/\partial \mu)b_{\mu,j}}{\left(1 + b_{\mu,j}^2\right)^2} \le 0, \tag{60}$$

since  $b'_{\mu,j} > 0$  on  $(-1, \infty)$  for a fixed  $j \in \mathbb{N}$ . Thus, by using (58) and (60), we see that  $\ell_{\mu}$  satisfies (7) and by applying Lemma 1 and Lemma 2, we obtain that  $\ell_{\mu}(-z) \in S^*$  and decreasing on  $(-1, \infty)$  and by considering (8), we can write

$$z\ell'_{\mu}(z) = 2^{\mu}\Gamma(\mu+1) \left[ \frac{zb'_{\mu}(\sqrt{z})}{2\sqrt{z}z^{-1+(\mu/2)}} + \left(1-\frac{\mu}{2}\right) \frac{b_{\mu}(\sqrt{z})}{z^{-1+(\mu/2)}} \right]$$
$$= \sum_{j\geq 0} \frac{(-1)^{j}(j+1)\Gamma(1+\mu)}{4^{j}j!\Gamma(\mu+j+1)z^{-j-1}}.$$
(61)

We also write

$$\ell_{\mu}(z) - \ell_{\mu}(-z) = \sum_{j \ge 0} \left(1 - (-1)^{1+j}\right) \frac{(-1)^{j} \Gamma(1+\mu)}{4^{j} j! \Gamma(j+\mu+1)} z^{1+j}.$$
 (62)

We can write

$$\begin{aligned} \frac{2z\ell'_{\mu}(z)}{\ell_{\mu}(z)-\ell_{\mu}(-z)} &= \frac{\sum_{j\geq 0} \left( (j+1)(-1)^{j}\Gamma(1+\mu)z^{j+1} \right) / \left( 4^{j}j!\Gamma(\mu+j+1) \right)}{\sum_{j\geq 0} \left( 1-(-1)^{1+j} \right) \left( (-1)^{j}\Gamma(1+\mu)z^{j+1} \right) / \left( 4^{j}j!\Gamma(1+j+\mu) \right)} \\ &= \frac{2}{1+(-i)^{\mu}b_{\mu}(i\sqrt{z})/b_{\mu}(\sqrt{z})} \frac{z\ell'_{\mu}(z)}{\ell_{\mu}(z)}. \end{aligned}$$

$$(63)$$

Since

$$b_{\mu}(\sqrt{-z}) = \sum_{j=0}^{\infty} \frac{(-1)^{j} (\sqrt{-z/2})^{\mu+2j}}{\Gamma(1+j)\Gamma(1+\mu+j)}$$
  
$$= \sum_{j=0}^{\infty} \frac{(i)^{\mu}(-1)^{2j}}{\Gamma(j+1)\Gamma(1+\mu+j)} \left(\frac{\sqrt{z}}{2}\right)^{\mu+2j},$$
 (64)

so we have

$$1 + \frac{b_{\mu}(i\sqrt{z})}{b_{\mu}(\sqrt{z})} (-i)^{\mu} = \frac{\sum_{j=0}^{\infty} \left( (-1)^{j} (1 + (-1)^{j}) / \Gamma(j+1) \Gamma(1+\mu+j) \right) (\sqrt{z}/2)^{\mu+2j}}{\sum_{j=0}^{\infty} \left( (-1)^{j} / \Gamma(1+j) \Gamma(\mu+j+1) \right) (\sqrt{z}/2)^{\mu+2j}}.$$
(65)

From (63) along with (65), we see that

$$\operatorname{Re} \frac{2z\ell_{\mu}'(z)}{\ell_{\mu}(z) - \ell_{\mu}(-z)} = \operatorname{Re} \frac{z\ell_{\mu}'(z)}{\ell_{\mu}(z)} \left[ 1 + \frac{b_{\mu}(i\sqrt{z})}{b_{\mu}(\sqrt{z})} (-i)^{\mu} \right]^{-1} = \operatorname{Re} \frac{z\ell_{\mu}'(z)}{\ell_{\mu}(z)} \left[ 1 - \frac{b_{\mu}(i\sqrt{z})(-i)^{\mu}}{b_{\mu}(\sqrt{z})} + \cdots \right] = \operatorname{Re} \frac{z\ell_{\mu}'(z)}{\ell_{\mu}(z)} \frac{\sum_{j=0}^{\infty} \left( (-1)^{j}/\Gamma(j+1)\Gamma(1+\mu+j) \right) \left(\sqrt{z}/2 \right)^{\mu+2j} (1+(-1)^{j})}{\sum_{j=0}^{\infty} \left( (-1)^{j}/\Gamma(j+1)\Gamma(1+\mu+j) \right) \left(\sqrt{z}/2 \right)^{\mu+2j}} \ge 1 - \sum_{j\geq 1} \frac{2|z|}{b_{\mu,j}^{2} - |z|} = \frac{|z|\ell_{\mu}'(|z|)}{\ell_{\mu}(|z|)}.$$
(66)

As in [11], we observe that

$$\operatorname{Re} \ \frac{2z\ell_{\mu}'(z)}{\ell_{\mu}(z) - \ell_{\mu}(-z)} \ge \operatorname{Re} \ \frac{z\ell_{\mu}'(z)}{\ell_{\mu}(z)} \ge 1 - \sum_{j\ge 1} \frac{2|z|}{b_{\mu,j}^2 - |z|} = \frac{|z|\ell_{\mu}'(|z|)}{\ell_{\mu}(|z|)}.$$
(67)

For  $1 > \eta \ge 0$  and  $\mu > -1$ ,  $r_{\eta}^{*}(\ell_{\mu})$  is the least positive zero of

$$zb'_{\mu}(z) + (2 - 2\eta - \mu)b_{\mu}(z) = 0, \qquad (68)$$

where  $\ell_{\mu}(z) = 2^{\mu} \Gamma(\mu + 1) b_{\mu}(\sqrt{z})(z)^{1-\mu/2}$ .

#### 4. Conclusion

The class of Bessel functions is originated as a solution of the well-known Bessel differential equation. We studied the radius problems of starlike functions with symmetric points involving Bessel functions under some kind of normalized conditions. We used the Mittag-Leffler representation of Bessel functions and derived our main results.

#### **Data Availability**

There is no data available.

#### **Conflicts of Interest**

The authors declare that they have no conflicts of interest.

#### References

- [1] G. N. Watson, A Treatise on the Theory of Bessel Functions, Cambridge Uni. Press, Cambridge, 2nd edition, 1944.
- [2] R. K. Brown, "Univalent solutions of W" + pW = 0," Journal Canadien De Mathematiques, vol. 14, pp. 69–78, 1962.
- [3] R. Szász, "On starlikeness of Bessel functions of the first kind," in Proc. 8th Joint Conf. Math & Comp. Sci., Comp. Sci., Komarno, Slovakia, 2010.
- [4] R. Szász and P. A. Kupán, "About the univalence of the Bessel functions," *Studia Universitatis Babeş-Bolyai Mathematica*, vol. 54, no. 1, pp. 127–132, 2009.
- [5] A. Saliu, K. I. Noor, S. Hussain, and M. Darus, "On Bessel functions related with certain classes of analytic functions with respect to symmetrical points," *Journal of Mathematics*, vol. 2021, Article ID 6648710, 9 pages, 2021.
- [6] A. Baricz, "Geometric properties of generalized Bessel functions," Universitatis Debreceniensis, vol. 73, pp. 155–178, 2008.
- [7] A. Baricz and S. Ponnusamy, "Starlikeness and convexity of generalized Bessel functions," *Integral Transforms and Special Functions*, vol. 21, no. 9, pp. 641–653, 2010.
- [8] B. A. Frasin, F. Yousef, T. al-Hawary, and I. Aldawish, "Application of generalized Bessel functions to classes of analytic functions," *Afrika Matematika*, vol. 32, no. 3-4, pp. 431–439, 2021.
- [9] M. E. H. Ismail and M. E. Muldoon, "Bounds for the small real and purely imaginary zeros of Bessel and related functions," *Methods and Applications of Analysis*, vol. 2, no. 1, pp. 1–21, 1995.
- [10] S. M. Shah and S. Y. Trimble, "Entire functions with univalent derivatives," *Journal of Mathematical Analysis and Applications*, vol. 33, no. 1, pp. 220–229, 1971.
- [11] A. Baricz, M. Çağlar, and E. Deniz, "Starlikeness of Bessel functions and their derivatives," *Mathematical Inequalities & Applications*, vol. 19, no. 2, pp. 439–449, 2016.
- [12] F. W. J. Olver, D. W. Lozier, R. F. Boisvert, and C. W. Clark, *NIST Handbook of Math. Functions*, Cambridge Univ. Press, Cambridge, 2010.